
 

Ref # Item # Description Qty Remark 
gfedc 1 772083A Transmission Cover

gfedc 2 780086A Needle Bearing

gfedc 2A 780142 Needle Bearing

gfedc 3 770061A Transmission Case

gfedc 4 776134 Countershaft

gfedc 8 792089A Shifter Key

gfedc 9 784266 Shift Collar

gfedc 10 784267 Shift Rod & Fork

gfedc 11 778154 Bevel Gear (42 teeth-steel)

gfedc 12 778176 Input Bevel Pinion

gfedc 19 786048 Sprocket (8 teeth)

gfedc 20 792077A Steel Ball, 5/16" dia.

gfedc 21 792078 Set Screw, 3/8-16 x 3/8"

gfedc 22 792079 Spring

gfedc 24 780071 Thrust Bearing

gfedc 25 792073A Screw, 1/4-20 x 1-1/4"

gfedc 25 792073A Screw, 1/4-20 x 1-1/4"

gfedc 25 792073A Screw, 1/4-20 x 1-1/4"

gfedc 26 792072 Retaining Ring

gfedc 27 792035 Retaining Ring

gfedc 28 788040 Retaining Ring

gfedc 29 780072 Thrust Washer

gfedc 30 780108 Thrust Washer

gfedc 30A 780108 Thrust Washer

gfedc 32 792001 "O" Ring

gfedc 34 780105A Flanged Bushing

gfedc 36 790003 Brake Disk

gfedc 37 790007 Brake Pad Plate

gfedc 38 799021 Brake Pad (pkg of 2)

gfedc 39 786026 Dowel Pin

Page 1 of 2Print

22-7-2010http://tecumseh.partsandwarranty.com/SSIDoc.cfm?cNodeID=4968002



gfedc 40 792076A Flat Washer, 5/16"

gfedc 41 790008A Brake Lever

gfedc 43 792075 Lock Nut, 5/16-24

gfedc 44 790025 Brake Pad Holder

gfedc 46 786086 Brake Lever Bracket

gfedc 49 778207A Spur Gear (37 teeth-steel)

gfedc 50 778206A Spur Gear (35 teeth-steel)

gfedc 51 778205A Spur Gear (30 teeth-steel)

gfedc 52 778204A Spur Gear (25 teeth-steel)

gfedc 53 778203A Spur Gear (22 teeth-steel)

gfedc 56 778145 Spur Gear (12 teeth-steel)

gfedc 57 778199 Spur Gear (15 teeth-steel)

gfedc 58 778200 Spur Gear (20 teeth-steel)

gfedc 59 778201 Spur Gear (25 teeth-steel)

gfedc 60 778202 Spur Gear (28 teeth-steel)

gfedc 65 780139 Thrust Washer (stepped)

gfedc 66 776135 Input Shaft (3-11/16" long)

gfedc 67 776217 Brake Shaft (8-13/16" long)

gfedc 71 788069 Square Cut Seal

gfedc 72 792074 Threaded Plug

gfedc 81 786081 Roller Chain (No. 41 chain, 24 links)

gfedc 82 786082 Sprocket (9 teeth)

gfedc 83 786083 Sprocket (18 teeth)
 gfedc 90 788067B Grease 32 oz. bottle Bentonite grease

gfedc 788118 Sealer

Page 2 of 2Print

22-7-2010http://tecumseh.partsandwarranty.com/SSIDoc.cfm?cNodeID=4968002



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


